Kenmyiesep

bipHelle anHbIMarnbICbl 6ap KenMyLUeHIH Typi
XoHe cunaTTamachi.



OpHEKTEp/l Kapall IIbIFbIHBI3. bip aliHbIMajbl KONIMYIIEIEPIH KachlHa «V) OENTICIH,
OlpHelIe aliHbIMAJIbl KOIIMYIIIE KachlHA «+» OEJIiCIH, KOIIMYIIE OOJbII TaObLIMAWTHIH
OPHEKTEP KAChIHA «—» OCITICIH KOMBIHBI3AAP.
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KoenMyuieHiH aHbIKTaMAaChI

Erepa,a,,...,a — 0eplires HaKTbl caHaap 6oJica, oHIA
a X ra, xt e, Xt Ae. o xta. (1)

OPHETIH X QUHbLMANbLCLHA KAMbLCMbL N-08pediceni KonmpuLe nemn
araunbl. MyHna a,#0 00J1ybl KepeK. ¢, X" KeIIMYIIeHiH PAKeH Myuieci Jierl,
Qy» @ ..., @, , CAHZAPHl KOIMYIIEHIH Koagduyuenmmepi nen, an a,
KOIIMYIlIeH1H 60¢ Mpuleci iert aTanank X —

111 Jlopexke kepceTKIITepl Tepic emec OYyTiH caH 00y KEpek.
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Kenmyuiesepai Kocy KoHe a3alTy

ADDITION AND SUBTRACTION

To add or subtract two polynomials, we collect ‘like’ terms.

) Self Tutor

If Plz)=23-222+3z—-5 and Q(z) =223+ 2%—11, find:

a P(z) +Q(z) b P(z) - Q(z)
a  P(z)+Q(z) b  P(z)-Qz)
= 22—-22243z2-5 = 2% —22°43z—5— (2% + 2% — 11)

3 —22°+3x-5
— 27— P + 11
—23 —322+3x+6

4+ 223+ 22 — 14
322 — z%2+3x—16

Collecting ‘like’ terms is It is a good idea to place

made easier by writing them brackets around expressions

one above the other. which are subtracted.




POLYNOMIAL MULTIPLICATION

To multiply two polynomials, we multiply each term of the first polynomial by each
term of the second polynomial, and then collect like terms.

If Plx)=x2—-2x+4 and Q(z)=2z>+3z—5, find P(z)Q(z).

P(z)Q(z) = (z° — 2z + 4)(2z% + 3z — 5)
= 2°(22% + 3z — 5) — 22(22° + 3z — 5) + 4(2z° + 3z — 5)
= 22° + 3z* — 5z°
— 42° — 62° + 10z
+ 822 + 12z — 20

= 22° + 3z% — 923 + 222 + 222 — 20




For example, for (22 +2x — 5)(2z +3) we detach coefficients and multiply. It is different from the

ordinary multiplication of large numbers because we sometimes have negative coefficients, and because
we do not carry tens into the next column.

1 0 2 -5 coefficients of 2% + 2z — 5
X 2 3 coefficients of 2z + 3
3 0 6 —15
2 0 4 —-10
2 3 4 -4 -15 So (z® 42z —5)(2z+3)
2 23 22 & constants = 2z* +32° + 42° — 42 - 15.



Tancbipma Ne2

v/ KenmywieHiH [gapexeci MeH KO3a(MPUUUEHTTEPIH Xa3blHbl3. bac
KO3(UUNEHTTEH BacTaHbI3.

v/ KenmyLueHiH KoaddpUUMEHTTEPIHIH KOCbIHAbICLIH TaObIHbI3.

P(x)=x"*+4x’ +6x> +10x + 20
Q(x) = 2x°> -x+4
F(x) = 2x*+5x*-1



KocbiMmLua Ne2

TancbipmaNe1.

KernMyLLUEeHi KaHOHObIK TYPAE >Ka3blHbI3
a) (x+ 1)(x-1)(x-2);

6) (x+1)%(x-2)-(x+1)(x-2)

B) (2x + 1)(2x - 1)%;

N (2x + 1)(2x - )% + (1 - 2x)*



Tancbipma Ne2

f(x), g(x) kenmyLienepi bepinreH. Kectere gapexe KkepceTKilliH

TONTbIPbIHbI3AAP

f(x) g(x) | f(x) + g(x)

f(x) - g(x) L f(x)
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bipHelwle aHbIManbl KenmylLue
n-wi gapexeni OIpPTeKTi KenmylLue
Aaen atanagbl, erep KernmyLeHiH apoip
MYLLUECIHIH Adpexe KepCceTKILWTEepPIHIH
KOCbIHObICbI N-re TeH 6onca.



Eki aiHbIManbl p(X,y) KenMylUecCiHiH
X XX9He y avHbIManbiNnapbiH COUKECIHLUe
y XK9He x aMHbIManblnapbliHa
aybICTbIPFaHHaH KenmyLle e3repmMeunTiH
6onca, oHaa P(X,y) KenmyLlueci
CUMMETPUASbI KenmMylLle aen atanagbl,



KenmyLleHI cTaHOapT TypAe »Ka3blHbI3
a) (2x-y-3)“+(x-3y-1)*;

) (X-y-2z-1)°+(2x+y +z- 3)?%;
B) (5x-y-2)°+2(3x-y-1)%

N (x-3y+z-2)%-32x+y-z+1).



